Dodawanie i odejmowanie utamkow dziesigtnych

1) Oblicz w pamieci:
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35,96 3,8 2,39 3,45
2,44 77,84 10,01 2
1,7 1,01 41,99 19,95
5,55 56,7 34,75 1,3

164,31 2,1 81,07 71,12
1,02 1,5 2,9 5,31
7¢ 5 107/72 33,85

43,65 3,1 5,35 3,85

2) Oblicz sposobem pisemnym:

18,09 + 23,9 = 76,05+ 31,67 =

65— 45,05 =

1,9-0,89 = 212-11=
35+0,35= 2,15+1,3=
43,01 +121,3 =

43,89 + 27,23 =
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23,4+ 12,56 = 78,01 + 0,99 = 37,98 + 12,02 = 69,09 + 11,98 = 53,34 + 24,5 =
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40 — 34,65 = 123,9 - 67,2 = 67,05 —-32,3 = 88,2 — 54,35 = 78,1 — 34,45 =

54,69 — 52,3 = 101 — 98,56 =
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Rozwigzanie:
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